
MSI-9300 and MSI-4300

Crane Scale Cage Kit
The following instructions are a guide to install the Crane Scale Cage Kit to the MSI-9300/MSI-4300 crane scales. 

Figure 2-9. Illustrated Parts

Table 1. Illustrated Parts List

Item No. Part No. Description Qty

1 145998 Screw, Socket Head, 3/8-16 x 1 1/4 7

2 133597 Screw, Seal 3/8-16 x 1 1/4 1

3 167166 Lock Washer 4

4 167158 Crane Scale Cage Weldment 2

5 91869 Socket Head 18-8 SST 4

6 146634 Nut, Hex 3/8-16 Nyloc SS 4

5

1 4

3

2

3

5

1

6

Crane Scale

6

PN 174070January 20, 2016



2.2 Installation Procedure
1. Place the scale in an easy to reach location.
2. Remove the existing four screws securing the front of the scale to the body.

Figure 2-1. Remove Existing Screws

3. Insert three of the socket head screws and the seal screw into the holes on the center plate of one of the
cage weldments. See Figure 2-2 for screw arrangement. 

Figure 2-2. Hardware in Front Cage Weldment

4. Align a cage weldment to the screw holes on the front of the crane scale. 

5. Secure cage weldment to scale by tightening the screws.

Figure 2-3.  Assemble Front Cage Weldment to Crane Scale

6. Remove the screws holding the back of the scale to the body.

Remove Existing 
Screws

Screw, Seal 3/8-16 x 1 1/4

Screw, Socket Head, 3/8-16 x 1 1/4

Lock Washers

Screw, Socket Head, 3/8-16 x 1 1/4

Ensure washer is between 
cage and crane scale
2 Product Name



7. Align the remaining cage weldment to the back of the crane scale.

8. Secure using the remaining screws.

Figure 2-4. Install Back Weldment.

9. Secure the two cage weldments together using the four socket head screws (18-8 SST) and nuts. 

Figure 2-5. Secure Cage Weldments

Socket Head Screw 18-8 SST
3



230 W. Coleman St. • Rice Lake, WI 54868 • USA
U.S. 800-472-6703 • Canada/Mexico 800-321-6703 • International 715-234-9171 • Europe +31 (0)26 472 1319

www.ricelake.com   www.ricelake.mx   www.ricelake.eu   www.ricelake.co.in

Rice Lake Weighing Systems is an ISO 9001 registered company. 
© Rice Lake Weighing Systems      Specifications subject to change without notice.

PN 174070January 20, 2016


